JL_

Division (International) with a Helper Grid

Name:

Solve each problem.

1) 754 : 9 = 2 879 : 3 =
3 846 : 7 = 4 845 : 2 =
5 243 : 6 = 6) 531 : 3 =

Answers
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 754 : 9 =083r7 2 879 : 3 =293
6 1. 83r7
-0
75 2|7
72 -27 2 293
09
34 3. 120r6
217 -9
7 0 . 42211
5. 40r3
6. 177
3 846 : 7 =120r6 4 845 : 2 =422r1
-7 - 8
4 04
.14 -4
06 05
-0 -4
6 1

59 243 : 6 =040r3 6) 531 : 3 =177
-0 -3
24 23
124 -121
03 2
-0 -2
3
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